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Candidates answer on the gquestion paper

READ THESE INSTRUCTIONS FIRST

Do not open this booklet until you are told to do so.

Write your name, index number and class on all the work you hand in.
Write in dark blue or black pen.

You may use an HB pencil for any diagrams or graphs.

Do not use staples, paper clips, glue or correction fluid.

Answer ALL questions.

if working is needed for any question it must be shown with the answer.

Omission of essential working will result in foss of marks.

The use of an approved scientific calculator is expected, where appropriate.

if the degree of accuracy is not specified in the question, and if the answer is not exact, give the answer to
three significant figures. Give answers in degrees 1o one decimai place.

For 7, use either your calculator value or 3.142, unless the question requires the answer in terms of 7.
The number of marks is given in brackets [ ] at the end of each question or part question.

The total of the marks for this paper is 80.

Write the brand and model of your calculator in the space provided below.

For Examiner’s Use

Brand/Model of Calculator

Total

80

This question paper consists of 17 printed pages and 1 blank page.
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Mathematical Formulae

Compound interest

Total amount = P(l + L)
100

Mensuration

Curved surface area of a cone = v/

Surface area of a sphere = 477>

Volume of a cone= l7zr2h
4 5
Volume of a sphere= — »

Area of triangle ABC = -;-ab sin C
~ Arc length=r8 , where 8 is in radians

Sector area= %rze , Where @ is in radians

Trigonometry

a b c

snd snB sinC

a®* =b® +¢*> —2bccos A
Statistics

Mean = %jf&

Standard deviation = J % j; : _(%f;)
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3

1  Simplify the following expressions, leaving your answers in positive index.
@ (-a?) +4p°

ANSWEr oo (2]

(b) (a'lb)2 X (\[l; )3

AnSWer — iiiiiiieieeieneeen [2]

2 The line graph shows the profits that a company has made over a few years.

1100

Profits (in 1000 /
thousands) 900 /\ /
/ \/

800

2008 2010 2011 2012 2017
Year

State two ways in which the line graph may be misleading.

...............................................................................................

...............................................................................................
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4

3  The volume of an Olympic size swimming pool is 660 000 gallons.

1 gallon is approximately 3790 cm®.

(2)

Convert 660 000 gallons to cm?, leaving your answer in standard form.

Answer  cciviiiiiiiiiieenecm® 1]

(b)

The average volume of water flowing from tap 4 and tap B are 8x10° litres per minute

and 1.2x10’ litres per minute respectively. Both taps are used to fill up the Olympic
size swimming pool together. Calculate the time needed to fill up the pool completely.

Answer — cooiiiiinninie. minutes  [2]
4  The sketch shows the graph of y =ka™ . The points 4 (- 1, 6) and B (0, 3) lie on the graph.
}1’
ACL6)
N&(©,3)
L
»X
Find the value of k and of a.
5 Answer k= ......ccciiiviviiennn.
E= i, [2]
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5
5 (a) Express 1400 as a product of its prime factors.
Answer i [1]
(b)  Hence, explain why 1400 is not a perfect square.
ATISWEF oottt et et eee et eer e e e e e
............................................................................................... [
© a and b are both prime numbers. Find the value of a and of b such that 1400><-Z— isa

perfect cube.

ANSWEF G = coiiiiiiiiiiiiiinnerennaans

6 A lake has an actual area of 2.56 km?, It is represented by an area of 4 cm” on a map.

@

(b)

Find the scale of the map in the form 1 : .

Answer 1. [2]

The distance between two towns on the map is 20 cm. Find the actual distance, in
kilometres, between the two towns.

[Turn over
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7 E={integersx: 1<x<12}
A= {integers x: 1-2x>-9}
B = {prime numbers}

(a) List the elements in ANB'.

Answer ..., (1]

(b)  Onthe Venn diagram, shade the region which represents 4' UB.

Answer

(1]

8 The mass, M grams, of a cylindrical clay is directly proportional to the cube of its radius, r
centimetres. The mass of the cylindrical clay is increased by 700%. Calculate the percentage
increase in the radius of the cylindrical clay.

Answer  .coiiiiiiiiiiiiiinienen % [2]
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7

9  The diagram shows a right pyramid of height 45 cm.

The volume of the liquid in the pyramid is half the volume of the pyramid. Calculate the depth,
h cm, of the liquid.

AnSwer — ..oeeceiiiiiieiieieieneneCm - [2]

10 (a) (@)  Express x’ —4x+8 inthe form (x+ p)* +¢.

Answer  .ooveiiiiiiiiiiiiininnne 1]

@)  Hence explain why there is no solution for x*—4x+8=0.

.....................................................................................

[Turn over

PartnerinLeamning
260

More papers at www.testpapersfree.com



BP~261
.

(b)  Sketch the graph of y =(3-x)(x+5) on the axes below. Indicate clearly the values
where the graph crosses the axes and the coordinates of the turning point.

Answer

y
'y
0 » X
(3]
11 Given x* —8xy +16y* =0, find the value of .
y
Answer . 2]
[Turn over
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9

12 In the diagram, 4CD is a triangle. B is the point on AC such that 4B = 10 cm and BC =4 cm.

E is the point on AD where AE =7 cm and ED =13 cm.

C
4
B
10
D
A 7 E 13
(a)  Show that ACD and AEB are similar.
T AU S T
............................................................................................... 2]
(b)  Fis the point on AB such that 2224 L b the length of 4F.
Areaof AEB 4
Answer  .oiiiiiiiiiiiiiiee.cm [1]
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13 The stem-and-leaf diagram shows the test scores of the boys and girls from a particular class.

Boys Girls
8 |3
411 2 4
&8 4 4 2 0510 3 6 7
71613 5 9
5 4 2,713 4 6 7
518
Key (Boys) Key (Girls}
8 | 3 means38 4 | 1 means4l

(a)  Alvin represented the boys’ test scores on a box-and-whisker plot below.

41
.
v

Find the values of a, b and c.

AnSwWer A= ....oiiiiiiiiiiieeiins

C= vivririeiveninninenennnnne. [3]

(b)  Alvin realised that he forgot to record one boy’s test score. After recording this
boy’s test score, the median of the boys’ score remains unchanged. Write down the
possible score for this boy.

Answer  ...oooiiiiiiiiiiviiiineeeen [1]

(©) Alvin wants to measure the consistency of the class’s test scores. He claims that the
standard deviation is a more accurate measure, compared to the interquartile range.
Justify why this claim is valid.

.....................................................................................

.....................................................................................

[Turn over
PartnerlnLeaming
263

More papers at www.testpapersfree.com

BP~263




14 (a)

11

Factorise —2x” +x+3.

Answer e [1]

Factorise completely 8x° —18x7.

Answer  .oiiiiiieieccicinenen (2]

15 The diagram shows an accurate drawing of triangle ABC.

@

(b)

By constructing appropriate lines on the diagram, mark the point P on 4B such that P
is equidistant from 4C and BC. 2]

Write down the bearing of P from 4.

ANSWEF  coveveeiiiieeieiiiinieee © 0 [1]
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12

The matrix A below shows the prices of football match tickets for seats in Category 1 (Cat 1),
Category 2 (Cat 2) and Category 3 (Cat 3). The prices are given in dollars.

()

(b)

(©)

Catl Cat2 Cat3
A= (80 42 20} Semi-final

120 62 30 Final

There are 300 Cat | seats, 500 Cat 2 seats and 1000 Cat 3 seats. Represent this
information in a 3x1 matrix, B.

Answer T e iieeree e ee e e [1]
Evaluate the matrix X = (0.5 0.5) AB.
Answer  X=......c.cocvvvinievienen. [2]
State what the element of X represents.
ARSWEF oot s
..................................................................................... [1]
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17 A regular polygon has n sides. When the number of sides is doubled, each of the interior angles
is increased by 30°. Find the value of n.

AnSwer RB=..iiiiiiiiiie. 3]

18 Show that (2n—1)* +3 is a multiple of 4 for all integer values of 7.

R U O A LLLE

...............................................................................................
...............................................................................................
R P L L R R R R R P R R R AT SRR A AR A R AR AR LA AR S i
...............................................................................................

...............................................................................................
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14

19 The diagram shows the speed-time graph of a train for the first 62.5 seconds after entering a
tunnel.

Speed
(m/s)

Time (seconds)

(a) Find the speed of the train 20 seconds after entering the tunnel. Give your answer in
kilometres per hour.

Answer  ...viiiineveceee km/h 3]

(b)  Calculate the distance travelled by the train for the first 25 seconds after entering the
tunnel.

Answer  ...oiiiiiiiiiiiiiiiineeam [2]

() The deceleration of the train for the first 25 seconds after entering the tunnel is twice
the acceleration of the train after 25 seconds in the tunnel. Find the value of k.

Answer  k=.......cccoivvinennn. [2]
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20 Pis the point (3,~1) and Q is the point (-5, 5).

21

(@  Find |"ﬁ§|

Answer ‘PQl=un1ts [2]

(b)  The line PQ intersects the x-axis at R. Find the coordinates of point R.

Answer R=(........... s eeeeenenn ) [2]

-6
()  The point S is the result of the translation of point P by ( ) ) Find the coordinates

of point S.

Answer S=(........... 5 oo Yy M
The body mass index, BMI, of a person is defined as mass in ke 5 . Over two years,
(height in metres)

Jay’s mass decreased by 0.8% and his height increased by 2%. Find the percentage change in
Jay’s BML

ARSWEF oo Yo [3]
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16

A bag contains 150 chips. There are 60 blue chips, x red chips and y green chips in the bag.
The probability of drawing a red chip is % :

(a) Find x and y.
ABSWEF X = i

(b)  nyellow chips are added into the bag.

1] The probability of choosing two yellow chips with replacement is ﬁ . Write

down an equation in n to represent this information and show that it simplifies
to 17#* —20n—1500=0.

Answer

(3]

(i)  Solve the equation 17n° —20n—1500=0 to find the number of yellow chips
added into the bag.
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23 The diagram shows a right-angled triangle A4OB where 40 =15 cm and BO = 8 cm. P lies on
AB such that OP is an arc of a circle with centre 4. Q lies on 4B such that OQ is an arc of a

circle with centre B.

A .

< 15¢cm

A4

(a) Show that angle 4BO is 1.0808 radians, correct to 4 decimal places.

Answer

(1]

(b)  Find the area of the shaded region.

ABSWEF  eooeeeeeeeeeeeneiene. €M [3]
END OF PAPER
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Candidates answer on the Question Paper

READ THESE INSTRUCTIONS FIRST

Do not open this booklet until you are told to do so.

Write your name, index number and class on all the work you hand in.
Write in dark blue or black pen.

You may use an HB pencil for any diagrams or graphs.

Do not use staples, paper clips, glue or correction fluid.

Answer ALL gquestions.

If working is needed for any guestion it must be shown with the answer.

Omission of essential working will result in loss of marks.

The use of an approved scientific calculator is expected, where appropriate.

If the degree of accuracy is not specified in the question, and if the answer is not exact, give the answer to
three significant figures. Give answers in degrees to one decimal place.

For 7, use either your calculator value or 3.142, unless the question requires the answer in terms of 7.
The number of marks is given in brackets [] at the end of each question or part question.

The total of the marks for this paper is 100.

Write the brand and model of your calculator in the space provided below.

For Examiner’s Use

Brand/Model of Calculator

Total

100

This question paper consists of 20 printed pages and 2 blank pages.

PartnerinLeaming
272

More papers at www.testpapersfree.com



Mathematical Formulae

Compound interest

Total Amount= P, 1+ I
100

Mensuration
Curved surface area of a cone = s/

Surface area of a sphere = 47

Volume of a cone = %nrzh
4
Volume of a sphere =—§ g

Area of triangle ABC = -;-ab sin C
Arc length = »&, where & is in radians

1 .. .
Sector area = > r6, where @is in radians

Trigonometry
a b c

sind snB sinC

a*=b*>+c* -2bccos A

Statistics
Mean = ———Z F
> f

Standard deviation = \/ sz; _ (%1;‘ }
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3
Answer all the questions

(a) Given E—i%%%: —:1; , find the ratio x : y.

ARSWEF XY= it 2]
()  Solve the inequality 2 —33x < 2x6_1
ARSWEF o [2]
. 1 1 1 .
© Giventhat — + — = , express y in terms of x and w.
x Yy w—3
AnSwer Y= cooooiiiiiiiiii 3]
[Turn over

PartnerinLearning
274

More papers at www.testpapersfree.com



BP-275

4
(a)  The marked price of a mobile phone is $1288. After selling the mobile phone at
15% discount, the shop owner still makes a profit of 25% on its cost price.
Find the cost price of the mobile phone.

Answer $ oo [3]

(b) The selling price of a desktop computer is $2388.
The hire purchase price is a deposit of $295 and 18 equal monthly payments of
$125 per month. Calculate the simple interest rate per annum.

Answer e % 31

(¢)  The value of a laptop depreciated from $2000 in 2016 to $1200 in 2020.
If the price depreciated by x % every year, find the value of x.

AnSwer X = ......cccoiiiiiiiiiiiiiiiae [31
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BLANK PAGE
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3

6
A hot water tank is made by joining a hemisphere of radius 30 cm to a cylinder of radius
30 cm and height 70 cm.

- —
o —-

4

~
N

(a) Calculate the total surface area of the water tank.

ARSWEr  oiviiiiiiiiii e cm?
(b) The tank is filled with water completely.
(I  Calculate the number of litres of water in the tank.
Answer ..o litres
[Turn over
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7
() (i) The water drains from the tank at a rate of 3 litres per second.
Calculate the time, in minutes and seconds, taken to empty the tank.

Answer ........... minutes ........... seconds [2]

(iii)

04

All the water from the tank fills a bath completely.

The bath is a prism whose cross-section is a trapezium.

The lengths of the parallel sides of the trapezium are 0.4 m and 0.6 m.
The depth of the bath is 0.3 m. Calculate, in metres, the length of the bath.
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8
4 The diagram shows a parallelogram 4BCD on horizontal ground where AC is a
path. 4B =15 m and BC = 8 m. The bearing of B from 4 is 050°.

North
D >> c/
8m
S0S
A >
15m

(a) Find the area of the parallelogram ABCD.

Answer ......ooiiiiiiii m?* [2]
(b) Find the length of the path AC.

Answer ..., m [3]
(¢) Find angle DAC.

ARSWer ...oioiiiiiiiiiii e, ° 2]

[Turn over
PartnerinLeaming
279

More papers at www.testpapersfree.com




BP-280

(d) Find the bearing of 4 from C.

A vertical pole is erected at B. T'is the top of the pole.
The angle of elevation of T from 4 is 15°.

(e)  Find the height of the pole.

(f)  The angle of elevation of T from any point along AC is given by 4.
Find the range of 4.

[Turn over
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The table shows some values for y = 4—2x—§— for 0.5 < x <5.5.
X

10

BP~281

X 0.5 1 1.5 2 25 3 3.5 4 4.5 5 5.5
y ~7 -3 | 23| 25| -3 p | 445361 -7 | -79
(a) Find the value of p, correct to one decimal place.
ANSWEr P= it (1]
(b) On the grid, draw the graph of y = 4——2x-——5- for 0.5<x<55. [3]
Y
|
3 x
- o 2 3 4 5 6
=}
=3
[Turn over
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(c)  Use your graph to find the solutions of the equation 2x+ 3. 8.
X

Answer x=...........e o) (U [2]

(d) The gradient of the curve at point 4 is 3.
Use your graph to determine the coordinates of 4.

Answer A= (....... y reeneenas ) 2]

(¢) By adding a suitable straight line to the grid in part (b), find the solutions to the
equation 3x* —14x+10=0.

Answer x=............... o) P (41

[Turn over
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6 The table below shows a flooring consisting of square tiles measuring 1 m? each.
Each day similar tiles are added to the previous pattern.

/
5[]
Number of davs Day | Day 2 Day 3
Area added (m?) 1 5 9
Length, /(m) 1 3 5
Breadth, b (m) 1 2 3
(@) ()  Find an expression, in terms of », for the area added on Day n.
Answer ... m? [1]
(i) Find the area added on Day 20.
ARSWEF oo m? [1]
(iii) Explain why the area added is always odd.
ABSWEE ..ottt e
............................................................................................ (1]
(b) (i)  Find the total area of the flooring on Day 6.
AnSWer ....iiiiiii, m? [1]
[Turn over
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6 (b) () Find an expression for the total area of the flooring in the form of
an® +bn, on Day n.
ANSWEr (it [2]

@(iii) Determine if an area of 780 m? of flooring can be completed in 3 weeks.

....................................................................................................

....................................................................................................
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In the diagram, O is the centre of the circle. DOEFG and AEB are straight lines and
GA is a tangent to the circle at 4. Angle AGD=32° and angle BCD=106°.

C -

Find, giving reasons for each answer,

(a) angle GOA,

ARSWEF oo, ° 2]

(b) angle BCF,

Answer oo ° [2]
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(¢) angle BDA,

ABSWEF oo ° 2]
(d) angle DEA.

ARSWEE ottt ° 2]
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(a)  The time spent by 60 students on social media in a week is recorded.
The cumulative frequency curve below shows the distribution of the data collected.

A

60

50

Cumulative
frequency 40

30

20

10

v

0 200 300 400 500 600 700

Time (minutes)
(i)  Use the curve to estimate
(a) the median,
ARSWEr ..o, 1]
(b) the interquartile range.
ARSWEF oot [1]

(i) 20% of the students spent at least x minutes on social media in a week.
Find the value of x.

Answer X=.......ccccciiiiiiiiiiiiiiiiin, 2]

(i) Another group of 60 students was found to have the same median but a larger
interquartile range. Sketch a possible cumulative frequency curve to represent
this distribution on the above grid. 1]
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(b)
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17

The table below shows the average amount of time (in minutes) spent daily on social
media by a group of 240 students.

Time spent (x minutes) 20<x<40 | 40<x$60 60<x<80 | 80<.x<100

Frequency Boys 15 38 22 3
Girls 8 30 ) 62 40

(i)  One of these students is selected at random.
Find, as a fraction in its lowest terms, the probability that the student

(a) is a girl who spent at most 60 minutes on social media in a day.

() Two students were selected at random.
Find the probability that at least one of them spent less than or equal to 40
minutes on social media in a day.

ANSWEE  ooriiiiie i 2]

[Turn over
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(a) The figure shows a rectangle ABCD with AD =15 cm.
E is on DC produced such that DE = 8 cm.
The area of shaded part X is 12 cm? more than the area of shaded part 7.
Find the length of 4B. A B

15 cem

ARSWEr ..ot cm  [3]

(b) OABis atriangle and C is a point on 4B such that AC: CB=2:1.
The side OB is produced to the point D such that OB : BD=3:2.

OA=a and OB =b.

D

0

(D  Express OC in terms of a and b, as simply as possible.
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(b) G Express CD interms of aand b, as simply as possible.

(iii) E is the point on 04 such that OF =.;_ a.
Show that D, C and E lie on a straight line.

Answer 3]

area of triangle OEC
area of triangle OCD

@iv) Write down the ratio

Area of triangle EAC
Area of triangle O4B

(v)  Write down the ratio

[Turn ever
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Mr Tan designed two computer models X and Y. Both have the same manufacturing cost.
Mr Tan engaged his existing client Mr Chew to find out which model is more likely to
sell. Mr Chew sent a survey to 1000 random customers, with the photos, price and
specifications for each model.

Question 1
Question 2

IwillbuyModel X. | SD D N A SA
IwilbuyModelY.| SD D N A SA

SD =Strongly Disagree, D =Disagree, N =Neutral, A =Agree and SA =Strongly Agree.

Mr Chew prepared the following report. Unfortunately, coffee spilled on the report before
Mr Tan could read it. Mr Tan decided to figure out the missing information.

Points allocated for Model X Model Y
each type of response
SD=1 7 g
D =2 16 31
N=3 628 4 |
A=4 347 | .__
SA=5 2
n 1000 1000 '
Mean of points 1.907
Standard Deviation of points 1.611

(a)  Assuming that Mr Tan has done all his calculations correctly, what are the mean

and the standard deviation for Model X? Give your answers to 3 decimal places.

(b) By comparing the means for both models, which model should Mr Chew

recommend Mr Tan to produce? State your reason clearly.

Answer

[Turn over
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21
Mr Tan became troubled with the high standard deviation for Model Y, so he
decided to find the missing values for SD, A and SA for Model Y.
Help Mr Tan calculate the missing information.

Answer missing values for SD=.............. A=

................

With all the information available now, which model should Mr Tan produce?
State your reason clearly.

Answer

[2]
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